#9-2
Chemistry

Specific Heat Demonstrations

Q=m*c¢c*(Tf-Ti)
Ceopper = 0.368/molC
CAluminum = 0. 9g/m01C

Specific Heat Practice Calculations

1. A 100g copper block is heated form 25° to 50°C. How much energy is required?
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2. Using the energy from #1 a second 100g aluminum block is heated. If the block

started at 25°C what will be the final temperature?
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3. Comparing questions #1 and #2 why do the blocks end up at different

temperatures?
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What is the identity of the block?
g=150-2-4.18
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4. A block with the mass of 50g and is 100°C is dropped in to 150g of water 21°C.
If the water/block warmed to 23°C

What is the specific heat of the block?
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Known —water

Unknown - Metal

Mass = Mass =
Ti= Ti=
Tf= Tf=
c= c=

= q=
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Dissolving NaOH Demonstration Known —water Unknown - NaOH
Unlike just dropping a piece of metal Mass - Mass =
in water we are now running a Ti= Ti= X
chemical reaction. How much energy = If= X
take in/give off will depend on how c= c= X
much NaOH we dissolve. q= g= X

6. If we dissolve twice as much NaOH we will get twice the amount of energy. This

type of relationship is called __Linear. o« pro R)( 450

7. Write out the dissolving equation NaOH. NaO H — Na A YaY, i
8. Surroud S‘y

9. Based upon initial data, is the reaction system (ﬂ losing energy
10. What substance is doing the collecting of energy? () €L £ NM" l M’ , ‘{u’c

-¢11. How much energy did the water collect?
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- 12. Since we did not actually dissolve one mole of
NaOH, what would be the energy if we did dissolve 1
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13. What is the enthalpy (AH) for the process?
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14. What would be the AH for the following reaction? 2NaOH — 2Na* + 20H

Record the experiment data in the table above.
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Remember, enthalpy is the
amount of energy (q/mol,y,) as
the reaction cycles 1 time
through the process.
NaOH — Na® + OH’
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Dissolving ammonium nitrate. Mass = Mass =
Based upon the data provided in class determine | Tj = Ti= X
the enthalpy change. Tf= Tf= X
¢= c= X
q= X
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